
MT5 Build 2007 
Optimiser Bugs
Repeatable Case
With Brand New MT5 
Installation 



Clean, reproducible case of broken MT5 Build 2007
To remove variables that could affect the reproducible case, the test setup needs 
to be reproducible by anyone:

● Windows 10, latest updates applied, and latest drivers.
● Two test environments: With and without graphics card, i.e. with and without 

OpenCL capabilities (two machines might be easier)
● I tested with 

○ Windows 10 Home x64 on i7(4770, 8 cores) + NVIDIA Geforce GT1030 (OpenCL 1.2)
○ Windows 10 Pro x64 in Parallels VM (2 cores) on Mac(Xeon E5-1650) with No OpenCL



Clean, reproducible case of broken MT5 Build 2007
To remove variables that could affect the reproducible case, the test setup needs 
to be reproducible by anyone:

● New installation of MT5, fresh download from broker
● Use the same (live) broker account to connect to for all tests
● No pre-loads of tick history - connect to live account, then run tests
● Use MQL supplied demo EA: Moving Averages, to avoid source code 

concerns
● Defined optimisation configuration 
● No use of cloud or network agents: all optimisation on the test machine



Test Runs 1:
2 core Xeon (E5-1650) PC

Windows 10 Pro x64
Mac Parallels VM. No OpenCL



The Reproducible 
Case (Xeon)
Confirm this is clean, new install:

Toolbox Journal

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Confirm this is clean, new install:

Toolbox Experts tab

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Confirm this is clean, new install:

Strategy Tester Journal

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Confirm this is clean, new install:

Strategy Tester Agents tab. 

Note that only the local cores are 
enabled. No access to network farm or 
cloud.

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
The Moving Averages EA, supplied 
with the installation. (standard MQL 
supplied code)

Fixed recent 4 week period. Standard 
H1 test. EURUSD most available pair.

Every Tick Based On Real Ticks 
(remove random data risk)

Without Delay (remove random time 
risk)

USD (remove rates conversion risk)

Slow Complete (show ALL tests)

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
The Moving Averages EA, supplied 
with the installation. (standard MQL 
supplied code)

Optimise 2 of the 4 parameters.  As we 
are using the Slow Complete method, 
let’s not create too much output, but 
keep it light for this case. 9919 results 
is more than enough.

This is the default optimisation setup 
that comes with the Moving Averages 
EA.  We’ll optimise Decrease Factor 
and Moving Average Period only.

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Start the test

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Check the Journal whilst optimisation 
is taking place

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Check the Journal whilst optimisation 
is taking place

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Check the Agents whilst optimisation is 
taking place

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Check the Optimisation Graph whilst 
optimisation is taking place

Looks like the typical problem is 
already showing up: Pass 0 gets a 
result. A few more passes might show 
something, but the rest show nothing.

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Check the Optimisation Results whilst 
optimisation is taking place

Let’s see if Pass 0 works and most do 
nothing…

Yes. Pass 0 and one other so far. 

Now, when the optimisation finishes, 
Pass 0 is expected to show an equity 
curve with the listed profit. 

But of the others that show trades, 
how many will show equity curves that 
match the shown figures?

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Check the Optimisation Results whilst 
optimisation is taking place

Now: Given the only parameter here 
that affects entry and exit is the 
Moving Period, and for Pass 0 the 
Moving Period is 12, then why do the 
other tests for the same Moving 
Period 12 have zero trades?  They 
should all have the same 26 trades 
as Pass 0 (subject to account not 
going bust)

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Still progressing through the tests...

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Check the Optimisation Graph whilst 
optimisation is taking place

Still progressing through the tests...

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Tests are done...

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Check the Journal for any problems.

No problems showing here.

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Check the Optimisation Graph

Looks like just 2 setups actually traded 
and the other 9917 did not trade at all.

Alarm bells!

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Check the Optimisation Results

Sadly only 2 setups actually traded. 
(One per core?)

If Moving Period 12 trades for Pass 0, 
then it must also trade for the other 
passes using the same Moving Period.

Likewise for Moving Period 23, it 
makes no sense to only have one 
trading result for a given moving 
period.  

What is happening to the other test 
runs using Moving Period 12 or 23?  
Where are the results?

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top 3 lines.

Remember of the 4 possible inputs, 2 
are not optimised: 

MaximumRisk Percentage 0.02

Moving Average Shift 6.

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top 3 lines.

We are expecting:

Pass 0: End result 10046.12 from 26 
trades using Moving Period 12, 
Decrease Factor 3.0

Pass 1024: End result 9846.20 from 
23 trades using Moving Period 23, 
Decrease Factor 9.9

Pass 9918: End result 10000.00 from 
zero trades using Moving Period 120, 
Decrease Factor 30.0

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Pass 0: 

Expecting end result 10046.12 from 26 
trades using Moving Period 12, 
Decrease Factor 3.0

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Pass 0: Graph

Expecting end result 10046.12 from 26 
trades using Moving Period 12, 
Decrease Factor 3.0

Looks OK… let’s check the Backtest

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Pass 0: Backtest

Expecting end result 10046.12 from 26 
trades using Moving Period 12, 
Decrease Factor 3.0

Backtest shows perfect match for Pass 
0.

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Pass 1024: 

Expecting end result 9846.20 from 23 
trades using Moving Period 23, 
Decrease Factor 9.9

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Pass 1024: 

Expecting end result 9846.20 from 23 
trades using Moving Period 23, 
Decrease Factor 9.9

The Graph looks OK, let’s check the 
Backtest

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Pass 1024: 

Expecting end result 9846.20 from 23 
trades using Moving Period 23, 
Decrease Factor 9.9

Quick maths check: 

10000 - 9846.20 = 153.80 loss

Perfect match!

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Pass 9918: 

Expecting end result 10000.00 from 
zero trades using Moving Period 120, 
Decrease Factor 30.0

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Pass 9918: 

Expecting end result 10000.00 from 
zero trades using Moving Period 120, 
Decrease Factor 30.0

Oh, hang on: This one is not 
supposed to trade, according to the 
Optimisation run.

Let’s see the Backtest...

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Pass 9918: 

Expecting end result 10000.00 from 
zero trades using Moving Period 120, 
Decrease Factor 30.0

14 trades, end result 10056.04.

That actually makes this configuration 
the best so far. According to the 
Optimisation run, this config did not 
trade at all, and yet it does.

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Pass 9918: 

Expecting end result 10000.00 from 
zero trades using Moving Period 120, 
Decrease Factor 30.0

14 trades, end result 10056.04.

Quick Journal check to see if there are 
any errors.

Note the correct parameters are listed 
for this run.

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Pass 9918: 

Expecting end result 10000.00 from 
zero trades using Moving Period 120, 
Decrease Factor 30.0

14 trades, end result 10056.04.

Quick Journal check to see if there are 
any errors.

Nothing wrong showing up.  Except it 
traded when the Optimiser showed 
zero trades.

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Pass 9918: 

Expecting end result 10000.00 from 
zero trades using Moving Period 120, 
Decrease Factor 30.0

Check the Inputs tab to ensure the 
correct parameters were copied over 
for the Run Single Test…

No they were not copied across 
correctly.

(But we know from the Journal that the 
correct parameters were used)

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Let’s go back and look at the next 2 
passes that shares the same Moving 
Period as Pass 0…

Pass 1:

Optimiser shows zero trades for Pass 
1, yet logically it should have just as 
many trades as Pass 0, as they share 
the same key parameter: Moving 
Period 12.

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Pass 1:

Optimiser shows zero trades.

Logic suggests 26 trades (as per Pass 
0)

Actual result zero.

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Pass 1:

Optimiser shows zero trades.

Logic suggests 26 trades (as per Pass 
0)

Actual result zero.

Journal confirms the correct 
parameters were used.

This does not make sense!

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Pass 2:

Optimiser shows zero trades for Pass 
2, yet logically it should have just as 
many trades as Pass 0, as they share 
the same key parameter: Moving 
Period 12.

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Pass 2:

Optimiser shows zero trades.

Logic suggests 26 trades (as per Pass 
0)

Actual result… trades!

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



The Reproducible 
Case 
Pass 2:

Optimiser shows zero trades.

Logic suggests 26 trades (as per Pass 
0)

Actual result are trades.

Journal confirms the correct 
parameters were used.

Live Account. New MT5 Build 2007 x64 terminal installation on Win 10. 2 core Xeon on Mac Parallels.



Test Runs 2:
8 core i7(4770) PC
Windows 10 x64

OpenCL 1.2 on NVidia Geforce GT1030



The Reproducible 
Case (i7)
Confirm this is clean, new install:

Toolbox Journal

Live Account (same). New MT5 Build 2007 x64 terminal installation on Win 10. 8 core i7(4770)



The Reproducible 
Case 
Confirm this is clean, new install:

Toolbox Experts tab

Live Account (same). New MT5 Build 2007 x64 terminal installation on Win 10. 8 core i7(4770)



The Reproducible 
Case 
Confirm this is clean, new install:

Strategy Tester Journal

Live Account (same). New MT5 Build 2007 x64 terminal installation on Win 10. 8 core i7(4770)



The Reproducible 
Case 
Confirm this is clean, new install:

Strategy Tester Agents tab. 

Note that only the local cores are 
enabled. No access to network farm or 
cloud.

Live Account (same). New MT5 Build 2007 x64 terminal installation on Win 10. 8 core i7(4770)



The Reproducible 
Case 
The Moving Averages EA, supplied 
with the installation. (standard MQL 
supplied code)

Fixed recent 4 week period. Standard 
H1 test. EURUSD most available pair.

Every Tick Based On Real Ticks 
(remove random data risk)

Without Delay (remove random time 
risk)

USD (remove rates conversion risk)

Slow Complete (show ALL tests)



The Reproducible 
Case 
The Moving Averages EA, supplied 
with the installation. (standard MQL 
supplied code)

Optimise 2 of the 4 parameters.  As we 
are using the Slow Complete method, 
let’s not create too much output, but 
keep it light for this case. 9919 results 
is more than enough.

This is the default optimisation setup 
that comes with the Moving Averages 
EA.  We’ll optimise Decrease Factor 
and Moving Average Period only.



The Reproducible 
Case 
Start the test



The Reproducible 
Case 
Check the Journal whilst optimisation 
is taking place



The Reproducible 
Case 
Check the Journal whilst optimisation 
is taking place



The Reproducible 
Case 
Check the Agents whilst optimisation is 
taking place



The Reproducible 
Case 
Check the Optimisation Graph whilst 
optimisation is taking place

Looks like the typical problem is 
already showing up: Pass 0 gets a 
result. A few more passes might show 
something, but the rest show nothing.

Interestingly this is already slightly 
different to the optimisation run on the 
Xeon.



The Reproducible 
Case 
Check the Optimisation Results whilst 
optimisation is taking place

Let’s see if Pass 0 works and most do 
nothing…

Yes. Pass 0 is same as Xeon run.

Now, when the optimisation finishes, 
Pass 0 is expected to show an equity 
curve with the listed profit. 

But of the others that show trades, 
how many will show equity curves that 
match the shown figures?

same



The Reproducible 
Case 
Check the Optimisation Results whilst 
optimisation is taking place

Same issues with the Zero Trades 
results: 

Given the only parameter here that 
affects entry and exit is the Moving 
Period, and for Pass 0 the Moving 
Period is 12, then why do the other 
tests for the same Moving Period 12 
have zero trades?  They should all 
have the same 26 trades as Pass 0 
(subject to account not going bust)



The Reproducible 
Case 
Check the Optimisation Graph whilst 
optimisation is taking place

Still progressing through the tests...



The Reproducible 
Case 
Tests are done...



The Reproducible 
Case 
Check the Journal for any problems.

No problems showing here.



The Reproducible 
Case 
Check the Optimisation Graph

Looks like just a few setups actually 
traded and most others did not trade at 
all.

More alarm bells!



The Reproducible 
Case 
Check the Optimisation Results

Sadly only 8 setups actually traded. 
(One per core?)

If Moving Period 12 trades for Pass 0, 
then it must also trade for the other 
passes using the same Moving Period.

Likewise for Moving Periods 
23,45,57,68,34,79, and 90; it makes 
no sense to only have one trading 
result for a given moving period.  

What is happening to the other test 
runs using these Moving Periods?  
Where are the results?

Is is possible that only the first/one pass for 
each agent core is recording a result?  

● My 2 core test recorded 2 results.
● This 8 core test recorded 8 results.



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top few lines.

Remember of the 4 possible inputs, 2 
are not optimised: 

MaximumRisk Percentage 0.02

Moving Average Shift 6.



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top few lines.

Pass 0: OK, matched.

Pass 1024: 

Expect end result 9846.20 from 23 
trades using Moving Period 23, 
Decrease Factor 9.9



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top few lines.

We are expecting:

Pass 1024: 

Expect end result 9846.20 from 23 
trades using Moving Period 23, 
Decrease Factor 9.9

Got: Nothing.  Yet the same run on 
the Xeon computer worked.



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top few lines.

We are expecting:

Pass 1024: 

Expect end result 9846.20 from 23 
trades using Moving Period 23, 
Decrease Factor 9.9

Got: Nothing. Problem.

Parameters are correct.



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top few lines.

We are expecting:

Pass 3072: 

Expect end result 9696.50 from 21 
trades using Moving Period 45, 
Decrease Factor 23.7



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top few lines.

We are expecting:

Pass 3072: 

Expect end result 9696.50 from 21 
trades using Moving Period 45, 
Decrease Factor 23.7

Looks OK. Check Backtest.



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top few lines.

We are expecting:

Pass 3072: 

Expect end result 9696.50 from 21 
trades using Moving Period 45, 
Decrease Factor 23.7

Backtest shows perfect match.



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top few lines.

We are expecting:

Pass 4096: 

Expect end result 9867.53 from 20 
trades using Moving Period 57, 
Decrease Factor 3.3



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top few lines.

We are expecting:

Pass 4096: 

Expect end result 9867.53 from 20 
trades using Moving Period 57, 
Decrease Factor 3.3

Got: Nothing. Problem.



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top few lines.

We are expecting:

Pass 4096: 

Expect end result 9867.53 from 20 
trades using Moving Period 57, 
Decrease Factor 3.3

Check Journal.

No errors and correct parameters 
used.



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top few lines.

We are expecting:

Pass 5120: 

Expect end result 10093.71 from 18 
trades using Moving Period 68, 
Decrease Factor 10.2



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top few lines.

We are expecting:

Pass 5120: 

Expect end result 10093.71 from 18 
trades using Moving Period 68, 
Decrease Factor 10.2

Got: Nothing. Problem.



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top few lines.

We are expecting:

Pass 5120: 

Expect end result 10093.71 from 18 
trades using Moving Period 68, 
Decrease Factor 10.2

Got: Nothing. Problem.

Check Journal - no errors and correct 
parameters used.



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top few lines.

We are expecting:

Pass 2048: 

Expect end result 10027.55 from 17 
trades using Moving Period 34, 
Decrease Factor 16.8



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top few lines.

We are expecting:

Pass 2048: 

Expect end result 10027.55 from 17 
trades using Moving Period 34, 
Decrease Factor 16.8

Got: Nothing. Problem.



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top few lines.

We are expecting:

Pass 2048: 

Expect end result 10027.55 from 17 
trades using Moving Period 34, 
Decrease Factor 16.8

Got: Nothing. Problem.

Journal shows no errors and correct 
parameters used.



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top few lines.

We are expecting:

Pass 6144: 

Expect end result 9854.41 from 16 
trades using Moving Period 79, 
Decrease Factor 17.1



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top few lines.

We are expecting:

Pass 6144: 

Expect end result 9854.41 from 16 
trades using Moving Period 79, 
Decrease Factor 17.1

Got: Nothing. Problem.



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top few lines.

We are expecting:

Pass 6144: 

Expect end result 9854.41 from 16 
trades using Moving Period 79, 
Decrease Factor 17.1

Got: Nothing. Problem.

Check Journals and see no errors and 
correct parameters used.



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top few lines.

We are expecting:

Pass 7168: 

Expect end result 9851.87 from 15 
trades using Moving Period 90, 
Decrease Factor 24.0



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top few lines.

We are expecting:

Pass 7168: 

Expect end result 9851.87 from 15 
trades using Moving Period 90, 
Decrease Factor 24.0

Got: Nothing. Problem.



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top few lines.

We are expecting:

Pass 7168: 

Expect end result 9851.87 from 15 
trades using Moving Period 90, 
Decrease Factor 24.0

Got: Nothing. Problem.

Check Journal and confirm no errors 
and correct parameters used.



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top few lines.

We are expecting:

Pass 9918: 

Expect end result 10000.00 from zero 
trades using Moving Period 120, 
Decrease Factor 30.0



The Reproducible 
Case 
Now let’s do the ‘Run Single Test’ for 
the top few lines.

We are expecting:

Pass 9918: 

Expect end result 10000.00 from zero 
trades using Moving Period 120, 
Decrease Factor 30.0

Got nothing - but this time it matches 
the expectation.



The Reproducible 
Case 
Given we have had several zero 
results, let’s re-run tests to confirm 
even those are still OK

Pass 0 Re-Run: 

Expect end result 10046.12 from 26 
trades using Moving Period 12, 
Decrease Factor 3.0



The Reproducible 
Case 
Given we have had several zero 
results, let’s re-run tests to confirm 
even those are still OK

Pass 0 rerun: 

Expect end result 10046.12 from 26 
trades using Moving Period 12, 
Decrease Factor 3.0

Problem: Rerun of previously 
successful test is now producing a 
zero result.



The Reproducible 
Case 
Given we have had several zero 
results, let’s re-run tests to confirm 
even those are still OK

Pass 0 rerun: 

Expect end result 10046.12 from 26 
trades using Moving Period 12, 
Decrease Factor 3.0

Problem: Rerun of previously 
successful test is now producing a 
zero result.

Journal confirms correct parameters 
and no errors. Yet different outcome.



Findings
In my testing across 2 different computers with brand new MT5 installations:

● Pass 0 is always correct. (Bugs in boundary conditions?)
● Many Optimisation Results show zero trades, yet they do trade.
● Many Optimisation Results showing zero trades should trade, yet don’t.
● Often results showing trades give wildly different results when ‘Run Single Test’

○ Zero trade results do trade.
○ Trading results give different results to expected

● There may be a connection between the number of cores and the number of recorded results from 
the optimisation process.

● The Journal confirms the parameters used for a given single test, but the Inputs tab gets it wrong 
and can no longer be relied upon to show what parameters were just used. 

● Rerun tests and the outcomes can change from showing trades to showing no trades.  Inconsistent 
results cause further confusion.



MT5 Build 2006/2007 is Broken
How can community members develop and optimise EAs if the testing environment is so broken?  

How can we pick the best parameters for analysis and trading? 

Parameters picked in good faith from this build of the Optimiser may in fact be disastrous when 
trading.  

Given how bad this release is, I question the commitment to improving quality of MT5 releases. 
What regression testing and test driven development is in place?

In my conclusion, I believe MT5 builds 2006/2007 to be fundamentally broken.  I think it would take a 
brave soul to use this software for trading, development or EA optimisation. I believe all users would be 
wise to cease using these MT5 versions until proven stable replacements are made available.


